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@ﬂﬂ@@ﬂ[ﬁ@ﬂ’_ﬁ@ m Write a quadratic function in standard form
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= ! 11 Graphing Calculator ;10408
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§ bbe @Q W@@@u@m ! ' T T 2nd, 0, "Diagnostic On", enter, enter (0, 3) 2.3)
o % ﬁ Regression is the process of finding i Y| STAT=Edit
% B the line (or curve) of best fit for a set i Enter x's in L1, y's in L2

el il Ty} 1
£ BPg=as of data. ! STAT =+Calc +QuadReg / ' \ x
L Moe - o |
g HeFy E’i Coefficient of Determination: ' 5 - = o . s - ;
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S R?is a number between O and 1 that 1| ; . |- T 1—
o wam% . : 0 -
Bl s describes the strength of the 1 cemeee i
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ﬁ Eﬁ%ﬁ%ﬁ correlation. The higher the value, i
D w00y
ﬁ AT the closer the points are to the line 1252 = Lzt =
= of best fit || w=axd+hito
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=3 *Use this method to write a | E; b=
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o [T quadratic equation if vertex/x-int : F
o %"32{-5& are not easily identifiable |
E gty :
0 %E?ﬂ *makes a STANDARD form equation i




